J. Austral. Math. Soc. (Series A) 58 (1995), 15-26

INEQUALITIES AND REPRESENTATION FORMULAS FOR FUNCTIONS OF EXPONENTIAL TYPE

C. FRAPPIER and P. OLIVIER

(Received 20 February 1991; revised 20 January 1992)

Communicated by P. C. Fenton

Abstract

We generalise the classical Bernstein's inequality: $|f'(t)| \le \tau \sup_{-\infty < u < \infty} |f(u)|, -\infty < t < +\infty$. Moreover we obtain a new representation formula for entire functions of exponential type.

1991 Mathematics subject classification (Amer. Math. Soc.): primary 41A05, 41A17; secondary 30D10, 42A05.

Keywords and phrases: Bernstein's inequality, entire functions, interpolation points, approximation.

1. Introduction

In this paper the variable t is in $(-\infty, +\infty)$. Let B_{τ} be the class of entire functions of exponential type $\leq \tau$, bounded on the real axis. For $f \in B_{\tau}$ the classical Bernstein's inequality [2, p. 211] may be stated as:

(1)
$$|f'(t)| = \left| -\frac{1}{\pi} \int_{-\infty}^{+\infty} f(x+t) \frac{d}{dx} \left(\frac{\sin \tau x}{x} \right) dx \right| \le \tau \sup_{-\infty < u < \infty} |f(u)|.$$

In this paper we give a generalisation of (1). In order to prove it we need the following result:

THEOREM A. [3, Theorem 1] Let $f \in B_{\tau}$ be such that $f(x) = O(|x|^{-\epsilon}), \epsilon > 0, x \to \pm \infty$. For all reals γ and $0 \le \alpha \le 1$ we have

$$-4\pi\tau\sum_{k=-\infty}^{+\infty}e^{-\alpha i(k\pi+\gamma)}\frac{\sin^2\left((k\pi+\gamma)/2\right)}{(k\pi+\gamma)^2}f\left(\frac{k\pi+\gamma}{\tau}\right)$$

^{© 1995} Australian Mathematical Society 0263-6115/95 \$A2.00 + 0.00

(2)
$$= \int_{-\infty}^{+\infty} f(x) \frac{e^{-i\tau x} - \alpha i\tau x e^{-i\tau x} - 2e^{-\alpha i\tau x} + e^{(1-\alpha)i\tau x}}{x^2} dx + e^{-2i\gamma} \int_{-\infty}^{+\infty} f(x) \frac{e^{(1-\alpha)i\tau x} - e^{i\tau x} + \alpha i\tau x e^{i\tau x}}{x^2} dx$$

Furthermore, we generalise the following representation formulas for functions in B_{τ} :

THEOREM B. [3, Theorems 2 and 3] Let $f \in B_{\tau}$ be such that $f(x) = O(|x|^{-\epsilon})$, $\epsilon > 0, x \to \pm \infty$. For all reals γ we have

$$(3) \qquad -4\pi\tau e^{2i\gamma} \sum_{\substack{k=-\infty\\k=-\infty}}^{+\infty} e^{-\alpha i(k\pi+\gamma)} \frac{\sin^2\left((k\pi+\gamma)/2\right)}{(k\pi+\gamma)^2} f\left(\alpha \frac{k\pi+\gamma}{\tau}\right) \\ = \int_{-\infty}^{+\infty} f(\alpha x) \frac{e^{\alpha i\tau x} + e^{(1-\alpha)i\tau x} - 2e^{(2-\alpha)i\tau x} - (2\alpha-3)i\tau x e^{\alpha i\tau x}}{x^2} dx \\ + e^{2i\gamma} \int_{-\infty}^{+\infty} f(\alpha x) \frac{e^{(1-\alpha)i\tau x} - e^{-\alpha i\tau x} - i\tau x e^{-\alpha i\tau x}}{x^2} dx$$

for $1 \le \alpha \le 3/2$, and

$$(3') \qquad \begin{aligned} -4\pi\tau e^{4i\gamma}\sum_{\substack{k=-\infty\\k=-\infty}}^{+\infty}e^{-\alpha i(k\pi+\gamma)}\frac{\sin^2\left((k\pi+\gamma)/2\right)}{(k\pi+\gamma)^2}f\left(\alpha\frac{k\pi+\gamma}{\tau}\right)\\ &=\int_{-\infty}^{+\infty}f(\alpha x)\frac{(2\alpha-3)i\tau x e^{\alpha i\tau x}+e^{(3-\alpha)i\tau x}-e^{\alpha i\tau x}}{x^2}dx\\ &+e^{2i\gamma}\int_{-\infty}^{+\infty}f(\alpha x)\frac{e^{(1-\alpha)i\tau x}-2e^{(2-\alpha)i\tau x}+e^{(3-\alpha)i\tau x}}{x^2}dx\\ &+e^{4i\gamma}\int_{-\infty}^{+\infty}f(\alpha x)\frac{e^{(1-\alpha)i\tau x}-e^{-\alpha i\tau x}-i\tau x e^{-\alpha i\tau x}}{x^2}dx\end{aligned}$$

for $3/2 \leq \alpha \leq 2$.

2. Statement of results

We adopt the *convention* $\sum A_{\nu} = 0$ if ν varies on an empty set of integers. For each $\alpha \in \mathbb{R}$ let us denote by L_{α} the linear functional

(4)
$$f \mapsto \frac{i}{\pi} \int_{-\infty}^{+\infty} f(x+t) \frac{\alpha i \tau x \cos(\tau x) - \cos(\tau x) + e^{-\alpha i \tau x}}{x^2} dx.$$

THEOREM 1. Let $f \in B_{\tau}$ be such that $f(x) = O(|x|^{-\epsilon}), \epsilon > 0$. For all $-1 \le \alpha \le 1$ we have

(5)
$$|L_{\alpha}f(t)| \leq \tau \sup_{-\infty < u < \infty} |f(u)|.$$

In the same way, for each $\alpha \in \mathbb{R}$ let us denote by I_{α} the linear functional

(6)
$$f \longmapsto \frac{i}{\pi} \int_{-\infty}^{+\infty} \left(f'(x+t) - \alpha i \tau f(x+t) \right) \frac{e^{-\alpha i \tau x} - 1}{x} dx$$
$$= \frac{i}{\pi} \int_{-\infty}^{+\infty} f(x+t) e^{-\alpha i \tau x} \frac{d}{dx} \left(\frac{e^{-\alpha i \tau x} - 1}{x} \right) dx.$$

Let $h_f(\theta) := \overline{\lim}_{r\to\infty} (1/r) \ln |f(r e^{i\theta})|$ be the Phragmén-Lindelöf indicator function.

THEOREM 1'. Let $f \in B_{\tau}$ be such that $f(x) = O(|x|^{-\epsilon}), \epsilon > 0$ and $h_f(\pi/2) \le 0$. For all $-1 \le \alpha \le 1$ we have

(7)
$$\left|(1+\alpha)i\tau f(t) - f'(t) + I_{\alpha}f(t)\right| \leq \tau \sup_{-\infty < u < \infty} |f(u)|.$$

REMARK 1. Using the forthcoming Lemma 1 we see that (1) is the particular case $\alpha = 1$ of (5).

REMARK 2. It follows from Lemma 4 that $I_{\alpha} f(t) \equiv 0$ if $\alpha \leq 0$. The particular case $\alpha = 0$ of (7) gives, with the help of Lemma 2, the inequality [8]:

$$\left|i\tau f(t) - f'(t)\right| \le \tau \sup_{-\infty < u < \infty} |f(u)|, \qquad f \in B_{\tau}, \quad h_f(\pi/2) \le 0.$$

THEOREM 2. Let $f \in B_{\tau}$ be such that $f(x) = O(|x|^{-\epsilon})$, $\epsilon > 0$. For all real numbers γ and $\alpha > 0$ we have

$$\tau \sum_{k=-\infty}^{+\infty} (-1)^{k} e^{-\alpha i (k\pi+\gamma)} \frac{\sin^{2} ((k\pi+\gamma)/2)}{(k\pi+\gamma)^{2}} f\left(\alpha \frac{k\pi+\gamma}{\tau}+t\right) = \sum_{\substack{0 \le v \le \alpha - 1 \\ \pi}} \frac{e^{-(2\nu+1)i\gamma}}{\pi} \int_{-\infty}^{+\infty} f(\alpha x+t) e^{(2\nu+1-\alpha)i\tau x} \frac{\sin^{2} (\tau x/2)}{x^{2}} dx + \frac{e^{-(2[\alpha]+1)i\gamma}}{4\pi} \int_{-\infty}^{+\infty} f(\alpha x+t) e^{\alpha i\tau x} \frac{2e^{(1-2[\alpha])i\tau x} - e^{-2[\alpha]i\tau x} - 2(1-\{\alpha\})i\tau x-1}{x^{2}} dx,$$
(8)

where $\{\alpha\} := \alpha - [\alpha]$ is the fractional part of α .

If in addition $h_f(\pi/2) \le 0$ then, in the righthand member of (8), the summation is over the integers v such that $0 \le v < \alpha/2$, $\alpha \ge 2$; moreover the last integral is zero for $\alpha \ge 1$.

From Theorem 2 we will deduce

THEOREM 2'. Let $f \in B_{\tau}$ be such that $f(x) = O(|x|^{-\epsilon})$, $\epsilon > 0$. For all real numbers γ and $\alpha \ge 0$ we have

$$\tau \sum_{k=-\infty}^{+\infty} e^{-\alpha i (k\pi+\gamma)} \frac{\sin^2 \left((k\pi+\gamma)/2 \right)}{(k\pi+\gamma)^2} f\left(\alpha \frac{k\pi+\gamma}{\tau} + t \right) \\ = \sum_{0 \le \nu \le \alpha} \frac{e^{-2\nu i \gamma}}{\pi} \int_{-\infty}^{+\infty} f(\alpha x + t) e^{(2\nu-\alpha)i\tau x} \frac{\sin^2 \left(\tau x/2\right)}{x^2} dx \\ + \frac{e^{-(2[\alpha]+1)i\gamma}}{4\pi} \int_{-\infty}^{+\infty} f(\alpha x + t) e^{(\alpha+1)i\tau x} \frac{2e^{(1-2[\alpha])i\tau x} - e^{-2[\alpha]i\tau x} - 2(1-\{\alpha\})i\tau x - 1}{x^2} dx.$$
(9)

If in addition $h_f(\pi/2) \le 0$ then, in the righthand member of (9), the summation is over the integers v such that $0 \le v < (\alpha + 1)/2$; moreover the last integral is zero.

3. Lemmas

We use the following integral representation of functions in B_{τ} .

LEMMA 1. [7, p. 143] Let $f \in B_{\tau}$ be such that $f(x) = O(|x|^{-\epsilon}), \epsilon > 0$. We have

(10)
$$f(t) = \frac{1}{\pi} \int_{-\infty}^{+\infty} f(x+t) \frac{\sin \tau x}{x} dx$$

In order to prove Theorem 1' we need the following result.

LEMMA 2. Let $f \in B_{\tau}$ be such that $h_f(\pi/2) \leq 0$. We have

(11)
$$\tau f(t) + i f'(t) = \frac{1}{\pi} \int_{-\infty}^{+\infty} f(2x+t) \left(\frac{\sin \tau x}{x}\right)^2 dx.$$

PROOF. Compare the following formulas (see [4, Theorems 2 and 3]):

$$\frac{1}{\pi} \int_{-\infty}^{+\infty} f\left(\frac{2x}{\tau} + t\right) \left(\frac{\sin x}{x}\right)^2 dx - \frac{5}{6} f(t) - \frac{1}{\tau^2} f''(t) = \frac{1}{2\pi^2} \sum_{\nu=-\infty}^{+\infty} \frac{f\left(\frac{2\pi\nu}{\tau} + t\right)}{\nu^2},$$
$$f \in B_{\tau},$$

and

$$-2\left(\frac{\tau}{2\pi}\right)^{2}\sum_{\nu=-\infty\atop\nu\neq0}^{+\infty}\frac{f\left(2\pi\nu/\tau+t\right)}{\nu^{2}}=f''(t)-i\tau f'(t)-\frac{\tau^{2}}{6}f(t),$$
$$f\in B_{\tau},\quad h_{f}(\pi/2)\leq0.$$

The function $e^{-i\epsilon z}$, $\epsilon > 0$, shows that Lemma 2 is not true without the restriction $h_f(\pi/2) \le 0$.

In the proof of Theorem 2 an essential tool will be

LEMMA 3. Let $t(\theta) := \sum_{j=-n}^{n} c_j e^{ij\theta}$ be a trigonometric polynomial of degree $\leq n$. For all real numbers θ and γ we have

$$\frac{1}{2(n-m)} \sum_{k=1}^{2(n-m)} e^{-i(k\pi+\gamma)m/(n-m)} \frac{\sin^2\left((k\pi+\gamma)/2\right)}{\sin^2\left((k\pi+\gamma)/2(n-m)\right)} t\left(\theta + \frac{k\pi+\gamma}{(n-m)}\right)$$
$$= \sum_{l=0}^{2} (-1)^l \binom{2}{l} \sum_{0 \le s \le (2n-l(n-m))/(2(n-m))} e^{-2si\gamma} \sum_{j=-n}^{n-(2s+l)(n-m)} (n-(2s+l)(n-m)-j) c_j e^{ij\theta},$$
(12)

(12)

where m < n is an integer.

PROOF. Let us consider the integral

$$J_{\rho}(\theta) := \frac{1}{2\pi i} \oint_{|\zeta|=\rho} \frac{t(-i \ln \zeta)(\zeta^{n-m} - e^{i(n-m)\theta})^2}{\zeta^n (\zeta - e^{i\theta})^2 (\zeta^{2(n-m)} - e^{2i(\gamma + (n-m)\theta)})} d\zeta.$$

We have $\lim_{\rho\to\infty} J_{\rho}(\theta) = 0$. On the other hand, using the residue theorem (with $\rho > 1$),

$$J_{\rho}(\theta) = \operatorname{Res}\left(\zeta = e^{i\theta}\right) + \sum_{k=1}^{2(n-m)} \operatorname{Res}\left(\zeta_{k} = e^{i(\theta + (k\pi + \gamma)/(n-m))}\right) + \operatorname{Res}\left(\zeta = 0\right)$$

Now it suffices to calculate the residues as in [4, Lemma 2].

On several occasions we shall use the following variant of Paley-Wiener theorem (see [4, Lemma 1] for references).

LEMMA 4. If $F \in B_{\tau}$ is integrable then for every real number δ such that $|\delta| \geq \tau$ we have

(13)
$$\int_{-\infty}^{+\infty} F(x)e^{i\delta x} dx = 0.$$

If, moreover, $h_F(\pi/2) \leq 0$ then we have

(14)
$$\int_{-\infty}^{+\infty} F(x) \, dx = 0$$

4. Proofs of the theorems

One way to prove Bernstein's inequality (1) is to use the case $\gamma = \pi/2$ in the interpolation formula [1, p. 143]:

(15)
$$\sin \gamma f'(t) - \cos \gamma \tilde{f}'(t) = 2\tau \sum_{k=-\infty}^{+\infty} (-1)^k \frac{\sin^2 ((k\pi + \gamma)/2)}{(k\pi + \gamma)^2} f\left(\frac{k\pi + \gamma}{\tau} + t\right).$$

C. Frappier and P. Olivier

PROOF OF THEOREM 1. Apply (2) to the function $x \mapsto f(x + t)$, multiply both members of the resulting formula by $e^{i\gamma}$ and use $e^{\pm i\gamma} = \cos \gamma \pm i \sin \gamma$. This leads us to the formula

$$\sin \gamma \frac{i}{\pi} \int_{-\infty}^{+\infty} f(x+t) \frac{\alpha i \tau x \cos(\tau x) - \cos(\tau x) + e^{-\alpha i \tau x}}{x^2} dx$$
(16)
$$-\cos \gamma \frac{1}{\pi} \int_{-\infty}^{+\infty} f(x+t) \frac{e^{(1-\alpha)i \tau x} - e^{-\alpha i \tau x} - i \sin(\tau x) - \alpha \tau x \sin(\tau x)}{x^2} dx$$

$$= 2e^{(1-\alpha)i\gamma} \tau \sum_{k=-\infty}^{+\infty} e^{-\alpha i k \pi} \frac{\sin^2 ((k\pi + \gamma)/2)}{(k\pi + \gamma)^2} f\left(\frac{k\pi + \gamma}{\tau} + t\right),$$

from which inequality (5) follows for $0 \le \alpha \le 1$. Applying the result to $z \mapsto f(-z)$ shows that (5) is valid for $-1 \le \alpha \le 0$.

REMARK 3. Formula (15) is the case $\alpha = 1$ of (16).

PROOF OF THEOREM 1'. Recalling the definition (see (6)) of $I_{\alpha}f(t)$ we write $L_{\alpha}f(t)$ in the form

$$L_{\alpha}f(t) = \frac{i}{\pi} \int_{-\infty}^{+\infty} f(x+t) \frac{\alpha i \tau x \cos(\tau x) - \cos(\tau x) + 1 - \alpha i \tau x}{x^2} dx + I_{\alpha}f(t).$$

(17)

Denote the first integral in the righthand member by J. We have

(18)
$$J = i \frac{\tau}{\pi} \int_{-\infty}^{+\infty} f(2x+t) \left(1 - 2\alpha i \tau x\right) \left(\frac{\sin \tau x}{x}\right)^2 dx.$$

Now let us suppose for the time being that $f(x) = O(|x|^{-1-\epsilon})$, $\epsilon > 0$, and apply Lemma 2 to the function $z \mapsto f(z)(1 - \alpha i \tau (z - t))$ to conclude that

(19)
$$J = (1+\alpha)i\tau f(t) - f'(t).$$

For this subclass of B_{τ} the inequality (7) follows from (5), (17) and (19). Considering functions of the form

$$e^{2i\delta z}\left(\frac{\sin\delta z}{\delta z}\right)^2 f(z), \qquad \delta > 0,$$

the conclusion of Theorem 1' follows by letting $\delta \rightarrow 0$.

PROOF OF THEOREM 2. The proof of Theorem 2 uses the method of approximation of Hörmander-Lewitan ([5, 6]).

Let

$$\varphi(x) := \left(\frac{\sin \pi x}{\pi x}\right)^2$$
 and $N := 1 + \left[\frac{\tau}{2\pi h}\right], \quad h > 0.$

[6]

Inequalities and representation formulas

Given $f \in B_{\tau}$ the trigonometric polynomials

(20)
$$f_h(x) := \sum_{k=-\infty}^{+\infty} \varphi(hx+k) f\left(x+\frac{k}{h}\right) = \sum_{j=-N}^{N} c_j(h) e^{2\pi i j h x}$$

have the coefficients

(21)
$$c_j(h) = h \int_{-\infty}^{+\infty} \varphi(hx) f(x) e^{-2\pi i j h x} dx$$

and converge towards f uniformly on every bounded set of the complex plane.

We apply (12) to the trigonometric polynomial $f_h(x/2\pi h)$. We take $\theta = 0$ (the general case in (8) is obtained after an obvious translation), n = N and m = (p/q)Nwhere p and q are integers such that p/q < 1 and where h can be chosen in the form $h = \tau/2\pi(S-1)$ where $S \equiv 0 \pmod{q}$ is a positive integer; thus m is an integer since $N \equiv 0 \pmod{q}$. We put

$$U(h) := \frac{1}{2(n-m)} \sum_{k=1}^{2(n-m)} e^{-i(k\pi+\gamma)m/(n-m)} \frac{\sin^2((k\pi+\gamma)/2)}{\sin^2((k\pi+\gamma)/2(n-m))} f_h\left(\frac{k\pi+\gamma}{2\pi h(n-m)}\right)$$
(22)

and

(23)
$$U_{s,l}(h) := \sum_{\substack{j=-n\\2n-(2s+l)(n-m)\\j=0}}^{n-(2s+l)(n-m)} (n-(2s+l)(n-m)-j) c_j(h)$$

Now we can write

(24)
$$U(h) = \sum_{l=0}^{2} (-1)^{l} {\binom{2}{l}} \sum_{0 \le s \le (2n-l(n-m))/(2(n-m))} e^{-2si\gamma} U_{s,l}(h).$$

We get

$$\lim_{h \to 0} hU(h) = \left(1 - \frac{p}{q}\right) \frac{\tau}{\pi} \sum_{k=-\infty}^{+\infty} e^{-i(k\pi + \gamma)p/(q-p)} \frac{\sin^2\left((k\pi + \gamma)/2\right)}{(k\pi + \gamma)^2} f\left(\frac{k\pi + \gamma}{(1 - p/q)\tau}\right).$$
(25)

We may assume from now on that f is integrable. Using (21) in (23) we obtain

(26)
$$hU_{s,l}(h) = h^2 \int_{-\infty}^{+\infty} \varphi(hx) f(x) e^{-2\pi h N i x(r-1)} K_{s,h}(x) dx,$$

where

(27)
$$K_{s,h}(x) := \frac{rNe^{2\pi ihx(rN+2)} + e^{2\pi ihx} - (rN+1)e^{2\pi ihx(rN+1)}}{(e^{2\pi ihx} - 1)^2}$$

C. Frappier and P. Olivier

with r := 2 - (2s + l)(1 - p/q). Then the dominated convergence theorem gives

(28)
$$\lim_{h \to 0} h U_{s,l}(h) = \int_{-\infty}^{+\infty} f(x) e^{-i\tau x(r-1)} K_s(x) \, dx,$$

where

(29)
$$K_s(x) := \frac{i\tau x r e^{i\tau x r} + 1 - e^{i\tau x r}}{(2\pi i x)^2}$$

From (24), (25) and (28) we infer

(30)
$$\tau \sum_{k=-\infty}^{+\infty} (-1)^{k} e^{-\alpha i (k\pi+\gamma)} \frac{\sin^{2} ((k\pi+\gamma)/2)}{(k\pi+\gamma)^{2}} f\left(\alpha \frac{k\pi+\gamma}{\tau}\right) = \sum_{l=0}^{2} (-1)^{l+1} {\binom{2}{l}} \sum_{0 \le s < \alpha - l/2} e^{-(2s+1)i\gamma} I_{s,l}$$

where

$$I_{s,l} := \frac{1}{4\pi} \int_{-\infty}^{+\infty} f(\alpha x) e^{(2s+l-\alpha)i\tau x} \frac{(2\alpha-2s-l)i\tau x}{(2\alpha-2s-l)i\tau x} + 1 - e^{(2\alpha-2s-l)i\tau x}}{x^2} dx.$$

For that we need firstly to replace p/q (< 1) by $(1 - p/q)^{-1}$ (> 0) and secondly to perform a limiting process on p/q to extend the formula for real values.

For the various passages to the limit we give only some indications (see [3, 4] for more details).

In order to obtain (25) we observe that $f_h(x)$ is periodic, with period 1/h, and write (22) in the form

$$U(h) = \frac{1}{2(n-m)} \sum_{k=-(n-m)}^{n-m-1} e^{-i(k\pi+\gamma)m/(n-m)} \frac{\sin^2((k\pi+\gamma)/2)}{\sin^2((k\pi+\gamma)/2(n-m))} f_h\left(\frac{k\pi+\gamma}{2\pi h(n-m)}\right),$$

with $\sin^2((k\pi + \gamma)/(2N)) \ge ((k\pi + \gamma)/(\pi N))^2$, for $-(n - m) \le k \le n - m - 1$. We may assume that $0 \le \gamma \le \pi$.

To obtain (28) we write (26) in the form $hU_{s,l}(h) = \int_{-\infty}^{+\infty} F_h(x) dx$, with

$$|F_h(x)| = h^2 \varphi(hx) \left| f(x) \sum_{j=-n}^{n-(2s+l)(n-m)} (n - (2s+l)(n-m) - j) e^{-2\pi i j h x} \right|$$

 $\leq c(\tau) |f(x)|.$

The result follows since we may assume that f is integrable; we have only to consider an auxiliary function of the form

$$f_{\delta}(x) = \left(\frac{\sin \delta x}{\delta x}\right)^2 f(x).$$

The last passage to the limit is obtained similarly.

Regrouping the terms we express the righthand member of (30) as

$$-\sum_{0 \le s \le \alpha - 1} \frac{e^{-(2s+1)i\gamma}}{4\pi} \int_{-\infty}^{+\infty} f(\alpha x) e^{(2s-\alpha)i\tau x} \left(\frac{1-e^{i\tau x}}{x}\right)^2 dx$$

+
$$\sum_{\alpha - 1 < s < \alpha - (1/2)} \frac{e^{-(2s+1)i\gamma}}{4\pi}$$

×
$$\int_{-\infty}^{+\infty} f(\alpha x) e^{\alpha i\tau x} \frac{2(\alpha - s - 1)i\tau x - e^{-2(\alpha - s)i\tau x} + 2e^{-(2\alpha - 2s - 1)i\tau x} - 1}{x^2} dx$$

+
$$\sum_{\alpha - (1/2) \le s < \alpha} \frac{e^{-(2s+1)i\gamma}}{4\pi} \int_{-\infty}^{+\infty} f(\alpha x) e^{\alpha i\tau x} \frac{1 - e^{-2(\alpha - s)i\tau x} - 2(\alpha - s)i\tau x}{x^2} dx.$$

Denote the second summation by J_1 and the third by J_2 . We have $J_1 = 0$ if $\{\alpha\} \le 1/2$, $J_2 = 0$ if $\{\alpha\} > 1/2$. If $\{\alpha\} > 1/2$ then $s = [\alpha]$ in J_1 which leads us to formula (8). If $\{\alpha\} \le 1/2$ then $s = [\alpha]$ in J_2 , so that

$$J_2 = \frac{e^{-(2[\alpha]+1)i\gamma}}{4\pi} \int_{-\infty}^{+\infty} f(\alpha x) e^{\alpha i\tau x} \frac{1 - e^{-2[\alpha]i\tau x} - 2\{\alpha\}i\tau x}{x^2} dx$$

But by (14) this is equal to the last integral appearing in formula (8).

The last observation of Theorem 2 follows also from (14).

PROOF OF THEOREM 2'. We change α to $\alpha + 1$, $\alpha > 0$ in formula (8). Since $1 + 1/\alpha > 1$ we may also replace τ by $(1 + 1/\alpha)\tau$. An obvious change of variable in the formula so obtained gives us (9) for $\alpha > 0$. The case $\alpha = 0$ is a known formula. Here again the last observation of Theorem 2' follows from (14).

5. Corollaries and remarks

5.1. The case of equality in Theorem 1 We observe that, for $-1 < \alpha < 1$, the equality in (5) is not possible for a function belonging to the class considered. However it is possible to find a sequence of functions $g_{\delta} \in B_{\tau}$, $g_{\delta}(x) = O(|x|^{-2})$, such that for any given $\epsilon > 0$, $-1 < \alpha < 1$ and $-\infty < t_0 < \infty$ the inequality

$$|L_{\alpha}g_{\delta}(t_0)| > (\tau - \epsilon) \sup_{-\infty < u < \infty} |g_{\delta}(u)|$$

holds for $\delta < \delta(\epsilon)$.

To prove this we examine the summation in the right-hand member of (16). We restrict ourselves to $\gamma = \pi/2$ (of course a more general discussion may be made here).

[9]

Taking the absolute value on both sides we see that equality is possible, in (5), if and only if

$$f\left(\frac{2k+1}{2}\frac{\pi}{\tau}+t_0\right)=M\,e^{\alpha k\pi t}$$

for $k = 0, \pm 1, \pm 2, \dots$ and $|M| = \sup_{-\infty < u < \infty} |f(u)|$. But then the function

$$g(z) := f\left(\frac{2z+1}{2}\frac{\pi}{\tau}+t_0\right) - M e^{\alpha \pi i z}$$

is an element of B_{π} and g(k) = 0, $k = 0, \pm 1, \pm 2, \ldots$ Hence by a theorem of Valiron (see [2, p. 156] or [9]), $g(z) = A \sin(\pi z)$ where A is a constant, that is, $f(z) = K e^{\alpha i \tau z} - A \cos \tau (z - t_0)$ which does not satisfy the condition $f(x) = O(|x|^{-\epsilon})$, $\epsilon > 0$.

On the other hand for the functions

$$g_{\delta} \in B_{\tau}, \qquad g_{\delta}(z) := e^{\alpha i \tau z} \left(\frac{\sin \delta z}{\delta z} \right)^2, \qquad 0 < \delta \leq (1 - |\alpha|) \frac{\tau}{2},$$

we have $g_{\delta}(x) = O(|x|^{-2}), x \to \pm \infty$, so that in view of (16),

$$L_{\alpha}g_{\delta}(t_{0}) = i\frac{4\tau}{\pi^{2}}\sum_{k=-\infty}^{+\infty}e^{i\alpha\tau t_{0}}\left(\frac{\sin\delta((2k+1)(\pi/2\tau)+t_{0})}{(2k+1)\delta((2k+1)(\pi/2\tau)+t_{0})}\right)^{2}$$

with $|L_{\alpha}g_{\delta}(t_0)| \leq \tau \sup_{-\infty < u < \infty} |g_{\delta}(u)|$. Finally, since

$$\lim_{\delta \to 0} \frac{4\tau}{\pi^2} \sum_{k=-\infty}^{+\infty} \left(\frac{\sin \delta \big((2k+1)(\pi/2\tau) + t_0 \big)}{(2k+1)\delta \big((2k+1)(\pi/2\tau) + t_0 \big)} \right)^2 = \tau,$$

it is clear that, for all sufficiently small δ ,

$$|L_{\alpha}g_{\delta}(t_0)| > (\tau - \epsilon) \sup_{-\infty < u < \infty} |g_{\delta}(u)|.$$

5.2. Consequences of Theorem 2 When $\alpha = m$ is a positive integer Theorem 2 is reduced to

COROLLARY 1. Let $f \in B_{\tau}$. For all real numbers γ and integers $m \ge 1$ we have

(31)
$$\sum_{k=-\infty}^{+\infty} (-1)^{k(m-1)} \frac{\sin^2 \left((k\pi + \gamma)/2 \right)}{(k\pi + \gamma)^2} f\left(m \frac{k\pi + \gamma}{\tau} + t \right) \\ = \frac{1}{\pi} \int_{-\infty}^{+\infty} f\left(m \frac{x + \gamma}{\tau} + t \right) e^{-i(m-1)x} \frac{\sin^2 \left((x + \gamma)/2 \right)}{(x + \gamma)^2} \frac{e^{2imx} - 1}{e^{2ix} - 1} dx.$$

To see this perform the summation on the righthand side of (8) and note that, in view of the second part of Lemma 4, the last integral (appearing in that formula) vanishes.

When $\alpha = 1/2$ the integral involved in (8) can be explicitly evaluated using Lemma 1 twice and one integration by parts. For all $f \in B_{\tau}$ we have

(32)
$$4\tau \sum_{k=-\infty}^{+\infty} e^{i(k\pi+\gamma)/2} \frac{\sin^2((k\pi+\gamma)/2)}{(k\pi+\gamma)^2} f\left(\frac{k\pi+\gamma}{2\tau}+t\right) = \tau f(t) + if'(t).$$

5.3. Consequences of Theorem 2' Theorem 2' is simplified when $\{\alpha\} \le 1/2$ if we observe that the last integral vanishes by Lemma 4.

COROLLARY 2. Let $f \in B_{\tau}$. For all real numbers γ and $\alpha \ge 0$ such that $\{\alpha\} \le 1/2$ we have

(33)
$$\tau \sum_{k=-\infty}^{+\infty} e^{-\alpha (k\pi+\gamma)i} \frac{\sin^2 ((k\pi+\gamma)/2)}{(k\pi+\gamma)^2} f\left(\alpha \frac{k\pi+\gamma}{\tau}+t\right)$$
$$= \sum_{0 \le \nu \le \alpha} \frac{e^{-2\nu i\gamma}}{\pi} \int_{-\infty}^{+\infty} f(\alpha x+t) e^{(2\nu-\alpha)i\tau x} \frac{\sin^2 (\tau x/2)}{x^2} dx.$$

Note also that Theorem 2' generalises Theorem B: apply Lemma 4 several times.

5.4. Another proof of Theorem 2' The approximation method which was used to prove Theorem 2 could also be applied to prove Theorem 2'. Instead of Lemma 3 we would need the following interpolation formula which is more general than [3, Lemma 4] but can be proved in the same way.

AN INTERPOLATION FORMULA FOR TRIGONOMETRIC POLYNOMIALS. Let $t(\theta) := \sum_{j=-n}^{n} c_j e^{ij\theta}$ be a trigonometric polynomial of degree $\leq n$. Let us write $c_j := 0$ if j < -n. We have

$$\frac{1}{2(n-m)} \sum_{k=1}^{2(n-m)} (-1)^{k} e^{-i(k\pi+\gamma)m/(n-m)} A_{k,m}(R,\gamma) t\left(\theta + \frac{k\pi+\gamma}{n-m}\right)$$

$$(34) = \sum_{-m/(n-m) \le s \le 1} \sum_{j=0}^{n-m} (R^{j}-1) c_{j+2(n-m)(s-1)+m} e^{i\theta(j+2(n-m)(s-1)+m)+(2s-1)i\gamma}$$

$$+ \sum_{-(1/2)-\frac{m}{n-m} < s < 1} \sum_{j=0}^{n-m-1} (R^{j}-1) c_{2(n-m)s+m-j} e^{i\theta(2(n-m)s+m-j)+(2s-1)i\gamma},$$

where m < n is an integer and

$$A_{k,m}(R,\gamma) := R^{n-m} - 1 + 2\sum_{\nu=1}^{n-m} \left(R^{n-m-\nu} - 1 \right) \cos \left(\nu \frac{k\pi + \gamma}{n-m} \right).$$

5.5. A representation of the conjugate function For the conjugate function \tilde{f} defined and normalised as in [1, p. 138] the following representation analogous to (10) holds.

Let $f \in B_{\tau}$ be such that $f(x) = O(|x|^{-\epsilon}), \epsilon > 0$. We have

(35)
$$\tilde{f}(t) = \frac{1}{\pi} \int_{-\infty}^{+\infty} \left(f(x+t) - f(x) \right) \frac{1 - \cos \tau x}{x} \, dx.$$

To obtain (35) compare formulas (15) with $\gamma = 0$ and (16) with $\alpha = 1$ and $\gamma = 0$, perform an integration by parts and then integrate from 0 to t.

Acknowledgement

This research was supported by the Natural Sciences and Engineering Research Council of Canada Grant No. OGP0009331. The authors are grateful to the referee for his helpful comments.

References

- [1] N. I. Achieser, Theory of approximation (Frederick Ungar Publishing Co., New York, 1956).
- [2] R. P. Boas, Entire functions (Academic Press, New York, 1954).
- [3] C. Frappier, 'Representation formulas for integrable and entire functions of exponential type I', Canad. J. Math. 40 (1988), 1010–1024.
- [4] —, 'Representation formulas for integrable and entire functions of exponential type II', *Canad. J. Math.* **43** (1991), 1–14.
- [5] L. Hörmander, 'Some inequalities for functions of exponential type', Math. Scand. 3 (1955), 21-27.
- [6] B. M. Lewitan, 'Über eine verallgemeinerung der ungleichunger von S. Bernstein und H. Bohr', Dokl. Akad. Nauk SSSR 15 (1937), 169–172.
- [7] J. McNamee, F. Stenger and E. L. Whitney, 'Whittaker's cardinal function in retrospect', Math. Comp. 25 (1971), 141-154.
- [8] Q. I. Rahman, 'On asymmetric entire functions II', Math. Ann. 167 (1966), 49-52.
- [9] G. Valiron, 'Sur la formule d'interpolation de Lagrange', Bull. Sci. Math. (2) 49 (1925), 181–192, 203–224.

Département de Mathématiques Appliquées École Polytechnique de Montréal Campus de l'Université de Montréal C.P. 6079, Succursale Centre-ville Montréal (Québec) H3C 3A7 Canada